1"

[25mm] [51mm] |
____— #8x2[M4x50] SELF-TAPPING SHEET
* METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)
58"
’I [16mm]
> \ \ 5/8" DRYWALL (BY OTHERS)
4"
[56mm] \ TINNERMAN U-CLIPS (7 PER FRAME) (JK090)
FRONT OF DRYWALL CONT. ALUM. CENTER PLATE (J3C157)
TO END QF COVER
= \ CONT. VINYL GASKET (J3D505)
— s CONT. ALUM. COVER (J3G150)
Ny CONT. ALUM. FRAME (J3A150)
2 3/8"
[60mm]
MOVEMENT =+
JOINT WIDTH
HORIZONTAL | VERTICAL
us mm uUsS mm us mm
1" 25 1/4" 6 3/4" 19
FINISH: CLEAR ANODIZED
PROJECT: DATE: 5-24-05 [ )
APPLICATION-
CUSTOMER: GLIDE PLATE SCALE: 1:2 ln ro
— WALL/CORNER-WALL/CEILING CONDITION ®

DOC: CADJM.018/R5 ) -
For More Information Visit: Inprocorp.com




2" 2"

[51mm] [51Tmm] #8x2 [M4x50] SELF-TAPPING SHEET

METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

~ 5/8"
[16mm]

|

2 3/4"
[70mm]
FRONT OF DRYWALL
TO END QF COVER

5/8" DRYWALL (BY OTHERS)

P
W7 SN

FINISH: CLEAR ANODIZED

TINNERMAN U-CLIPS (7 PER FRAME) (JK090)
CONT. ALUM. CENTER PLATE (J3C158)
CONT. VINYL GASKET (J3D505)
— CONT. ALUM. COVER (J3G150)
: CONT. ALUM. FRAME (J3A150)
3 3/8"
[85mm]
300-A09-050
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
Us mm Us mm Us mm
2" 51 1/2" 13 3/4" 19

PROJECT:

CUSTOMER:

LOCATION:

WALL/CORNER-WALL/CEILING CONDITION

DATE: 5-24-05

APPLICATION- H
GLIDE PLATE SCALE: 12 lnprOo

DOC: CADJM.018/R5

For More Information Visit: Inprocorp.com




3"
[76mm]

3"
[76mm]

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

|

213/16"
[71mm]
FRONT OF DRYWALL
TO END CTF COVER

[ 77l

5/8"

_[16mm]

5/8" DRYWALL (BY OTHERS)

TINNERMAN U-CLIPS (7 PER FRAME) (JK090)
CONT. ALUM. FRAME (J3A151)

CONT. ALUM. COVER (J3G151)

CONT. ALUM. CENTER PLATE (J3C159-F)
CONT. VINYL GASKET (J3D505)

CONT. ALUM. COVER (J3G150)

5 3/8" CONT. ALUM. FRAME (J3A150)
[137mm]
300-A09-075
MOVEMENT #+
JOINT WIDTH HORIZONTAL | VERTICAL
us mm us mm us mm
3" 76 3/4" 19 7/8" 22
PROJECT: DATE: 5-24-05 .
APPLICATION-
CUSTOMER: GLIDE PLATE SCALE: 1:2 lnpro
®

LOCATION:

WALL/CORNER-WALL/CEILING CONDITION

DOC: CADJM.018/R5

For More Information Visit: Inprocorp.com




4"

[102mm]

3"

[76mm]

—

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

~ 5/8"
[16mm]

|

213/16"
[71mm]
FRONT OF DRYWALL
TO END CTF COVER

ir——-=’<

1

Qo

(O e

5/8" DRYWALL (BY OTHERS)

TINNERMAN U-CLIPS (7 PER FRAME) (JK090)
CONT. ALUM. FRAME (J3A151)

CONT. ALUM. COVER (J3G151)

CONT. ALUM. CENTER PLATE (J3C160)
CONT. VINYL GASKET (J3D505)

CONT. ALUM. COVER (J3G150)

CONT. ALUM. FRAME (J3A150)

6 3/8"
[162mm]
300-A09-100
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
US mm US mm US mm
— 4" 102 1" 25 1" 25
PROJECT: DATE: 5-24-05 )
APPLICATION-
CUSTOMER: GLIDE PLATE SCALE: 1:2 lnpro
®

LOCATION:

WALL/CORNER-WALL/CEILING CONDITION

DOC: CADJM.018/R5 ) -
For More Information Visit: Inprocorp.com




[—— 6" —_—
[152mm]

4116

—

[103mm]

e

\

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

5/8"
- r[16mm]
i S T~ °
23/4" | \ ?
[70mm] 5/8" DRYWALL (BY OTHERS)
FRONT OF DRYWALL \ TINNERMAN U-CLIPS (7 PER FRAME) (JK090)
TOEND ? COVER \ CONT. ALUM. FRAME (J3A152)
\ CONT. ALUM. COVER (J3G152)
\ CONT. ALUM. CENTER PLATE (J3C161-F)
Y CONT. VINYL GASKET (J3D505)
97/16
[239mm] \\ CONT. ALUM. COVER (J3G150)
CONT. ALUM. FRAME (J3A150)
MOVEMENT #
JOINT WIDTH
HORIZONTAL | VERTICAL
us mm us mm us mm
6" 152 |1 11/2" 38 11/4" 32
FINISH: CLEAR ANODIZED
PROJECT: DATE: 5-24-05 )
APPLICATION-
CUSTOMER: GLIDE PLATE SCALE: 1:4 ln ro
LOCATION. WALL/CORNER-WALL/CEILING CONDITION ®

DOC: CADJM.018/R5

For More Information Visit: Inprocorp.com




%

8"

5"

[203mm] [127mm]_> _— #8x2 [M4x50] SELF-TAPPING SHEET

METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

—
—
—
> o
3 ®
3%

7]
A=

2 3/4"
[70mm]
FRONT OF DRYWALL

TO END C?F COVER

FINISH: CLEAR ANODIZED

5/8" DRYWALL (BY OTHERS)

TINNERMAN U-CLIPS (7 PER FRAME) (JK090)
CONT. ALUM. FRAME (J3A153)

CONT. ALUM. COVER (J3G153)

CONT. ALUM. CENTER PLATE (J3C162-F)
CONT. VINYL GASKET (J3D505)

// ST =

12 3/8"
[315mm] CONT. ALUM. COVER (J3G150)
CONT. ALUM. FRAME (J3A150)
300-A09-200
JOINT WIDTH MOVEMENT <+

HORIZONTAL | VERTICAL

Us

mm us mm US mm

8"

203 2" 51 11/4" | 32

PROJECT:

CUSTOMER:

LOCATION:

DATE: 5-24-05

APPLICATION- 4
GLIDE PLATE SCALE: 4 ln ro
WALL/CORNER-WALL/CEILING CONDITION ®

DOC: CADJM.018/R5

For More Information Visit: Inprocorp.com




10" 7"
[254mm] [178mm]

|

S—"

S AN

/

—y

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

5/8"

J[16mm]

|

55/16"
[134mm]
FRONT OF DRYWALL —

TO END T: COVER

FINISH: CLEAR ANODIZED

R

1El

vi
¥

>
=

\

f

5/8" DRYWALL (BY OTHERS)

TINNERMAN U-CLIPS (7 PER FRAME) (JK090)
CONT. ALUM. FRAME (J3A154)

CONT. ALUM. COVER (J3G154)

CONT. ALUM. CENTER PLATE (J3C167-F)
CONT. VINYL GASKET (J8D002)

CONT. ALUM. FRAME (J3A155)

CONT. ALUM. COVER (J3G155)

PROJECT:

CUSTOMER:

LOCATION:

16 3/8"
[416mm]
300-A09-250
MOVEMENT %
JOINT WIDTH HORIZONTAL | VERTICAL
Uus mm us mm us mm
10" 254 [ 21/2"| 64 2" 51
APPLICATION-
GLIDE PLATE

WALL/CORNER-WALL/CEILING CONDITION

DATE: 7-23-15

SCALE: 1:4

inpro.

For More Information Visit: Inprocorp.com

DOC: CADJM.018/R5




#8x2 [M4x50] SELF-TAPPING

LOCATION:

WALL/CORNER-WALL/CEILING CONDITION

12" 7" / SHEET METAL SCREW (7
[305mm] [178mm] PER FRAME @ 18" [457mm]
/ 0.C.) (JK061)
5/8"
_I [16mm]
—— N - ¢
‘ 1 \ 5/8" DRYWALL (BY OTHERS)
5 1/4" M TINNERMAN U-CLIPS
[134mm] i \ (7 PER FRAME) (JK090)
FRONT OF DRYWALL e CONT. ALUM. FRAME (J3A154)
TO END CzF COVER \
= \ CONT. ALUM. COVER (J3G154)
- CONT. ALUM. CENTER PLATE
N~ \ (J3C168-F)
CONT. VINYL GASKET (J8D002)
T~ CONT. ALUM. FRAME (J3A155)
18 3/8" ~—— CONT. ALUM. COVER (J3G155)
[467mm]
MOVEMENT =
JOINT WIDTH
HORIZONTAL | VERTICAL
us mm us mm us mm
12" 305 3" 76 | 21/2"| 64
FINISH: CLEAR ANODIZED
PROJECT: DATE: 7-23-15
APPLICATION-
CUSTOMER: GLIDE PLATE SCALE: 1:4

DOC: CADJM.018/R5

inpro.

For More Information Visit: Inprocorp.com




	300-A09-025.pdf
	Sheets and Views
	Model


	300-A09-050.pdf
	Sheets and Views
	Model


	300-A09-075.pdf
	Sheets and Views
	Model


	300-A09-100.pdf
	Sheets and Views
	Model


	300-A09-150.pdf
	Sheets and Views
	Model


	300-A09-200.pdf
	Sheets and Views
	Model


	300-A09-250.pdf
	Sheets and Views
	Model


	300-A09-300.pdf
	Sheets and Views
	Model



